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Note : Question no. 1 is compulsory. Answer any eight 

questions out of the remaining nine questions. 

1. (a) Bring out the difference between the ways 
the word 'line' is used in mathematics and 
in ordinary language. Give another similar 
example of a word, explaining your choice. 	4 

(b) What is a numeral ? How will you convince 
children that a number is different from its 
numeral ? 
	

4 
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(c) Give an example each to illustrate four 
ways in which adults can hamper a child's 
learning. 

(d) Give one example each of a real life situation 

in which the following would need to be 
measured : length, angle, capacity, time. 

(e) 'Repetition does not have to be boring.' 
Justify this statement with the help of two 
examples from a different context. 

2. (a) Give two methods which you would use to 
help children construct the multiplication 
tables. 

(b) Write down two distinct activities that can 

be done with a group of 20 children in a class 
to help them develop the ability to estimate 
area. 

(c) What is seriation ? How is it different from 
ordering ? Explain with the help of an 

example. 
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3. (a) Meena runs a small hotel. Give two 

mathematical concepts, that she would use 
in her work. Justify your answer. 	 4 

(b) What is an open ended question ? Give an 
example pertaining to single-digit addition. 	2 

(c) A child was asked to read 203. He read it as 

twenty-three. Why do you think the child 

made this mistake ? Develop an activity to 
help him realise his error. 	 4 

4. (a) What is an algorithm ? Describe an 

algorithm related to multiplication of a 
two-digit number with a two-digit number. 
Also explain how this algorithm works. 

(b) What are negative numbers ? How would 
you introduce the concept of negative 
numbers to children ? Explain using two 

examples from the child's environment. 	4 

5. Give five guidelines for planning a lesson. 
Illustrate these guidelines for developing a 
lesson plan for teaching addition of fractions 
with different denominators. 	 10 

AMT-01 	 3 	 P.T.O. 



6. (a) Explain E-L-P-S in the context of the 

teaching-learning of a 'Variable'. 	 4 

(b) Illustrate the use of each of the following in 
the teaching-learning of a spatial concept : 	6 

(i) a concrete learning aid 

(ii) an outdoor activity 

(iii) newspapers or magazines 

7. (a) Convert the following mathematical 

statements to word problems : 	 4 

(i) 7 + 3 = 10 

(ii) 5 x  
4 4 

(b) Describe how an activity based on "Dividing 

the square into 100 equal parts" can be 
used to develop an understanding of tenths 
and hundredths. Also explain how the same 
square can be used to find 0.47 + 0.22. 	6 

8. (a) Outline a series of three activities to 

introduce the concept of 'zero' to children. 	4 

AMT-01 	 4 



(b) What is meant by an 'instant of time' ? Give 

an example that distinguishes it from an 

`interval of time'. 	 3 

(c) List two errors children make while 

measuring angles. How would you help them 

overcome these errors ? 
	

3 

9. (a) There are four types of distinct subtraction 

word problems viz. 	 6 

(i) Partitioning 

(ii) Reduction 

(iii) Comparison 

(iv) Complementary addition 

Give one word problem of subtraction for 

each of these categories. 

(b) Meena says that all odd numbers are prime. 

What is the basis of her making this 

generalisation ? How would you convince her 

that her generalisation is not correct ? 
	

4 
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10. (a) How can the skill of estimation help us ? 
Give an example related to number 
operations, and one related to spatial 

understanding. 

(b) Suggest two distinct activities that would 
help children arrive at a formula that relates 

centimeters to meters. 

3 3 . (c) Represent 4 — + — pictorially. 
8 
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